HYSTAR

MODEL NO SPECIFICATIONS ( DSG-01/03 Solenoid Operated Directional Valves )

“ Spool Type & Graphic Symbols Rated Flow Capacity -Maximum Flow Capacity
DSG (X )-01(1/8") DSG - 03 (3/8")
SYMBOLS MODEL NO AC RAC DC AC RAC DC
A1|A2|R1|R2|D1|D2|A1|A2|R1|R2|D1|D2
M XS DSG-2B2-**
MIHKS DSG-2B3-**
MR, DSG-2B8-**

I DSG-202-
- HXE> DSG-2D3-**
S i) DSG-3C2-**

P
A
* ATTHIXE DSG-3C3-** 30~63 Ipm 70~120 Ipm

PT
QZE/EBIXE” DSG-3C4-* (10.3~16.6USgpm) (18.5~31.7USgpm)
AT LI
A DSG-3C40-**

PT

A B

* TR » DSG-3C7-**
A

* ATIHIX DSG-3C9-**
A

* AT DSG-3C10-**
A

(T DSG-3C11-*
A

* AN DSG-3C12-*
PT
A B

YIRS DSG-3C5-**

=1 30~45 Ipm 70~100 Ipm
R 1 DSG-3C6-**
PT (7.9~11.9USgpm) (18.5~26.4USgpm)
A B
 ZXHEHI DSG-3C60-*
PT
Max. Operating Pressure ( P.A.B ) ( bar) 315 (4500 PSI)
Max. Operating Pressure 3C5/3C6 Types ( bar ) 250 ( 3600 PSI)
Permissible Back Pressure ( T ) ( bar) 160 (2300 PSI)
. Double Solenoid 1.9 2.0 4.0 4.8
Weight ( K
eight (Kgs ) Single Solenoid 1.5 1.6 3.3 3.8
Switching Frequency ( times/min ) 280 120 ‘ 280 240 120 ‘ 240
Hydraulic Fluids Use Hydraulic Fluids Equivalent to ISO VG32 or VG46
Operating Temperature Range Recommended (°C) -15~+70 (+5 ~ +160°F )
Operating Viscosity ( cSt ) 15 ~400 (80 ~ 1800SSU )
Filtration 25 Microns Absolute or Finer

DSGX series mini. type solenoid valves.

Max. pressure ( P.A.B ) : 200bar ( 2900PSI )., 3C5/3C6 spool types : 160bar ( 2300PSI ).
Permissible Back Pressure ( T ) : 100bar ( 1430PSI )

Weight : Double Solenoid : 1.6kgs.,Single Solenoid : 1.1kgs

152




ams "DSG™ DIRECTIONAL VALVES

LIST OF SPOOL FUNCTIONS ( DSG-01/03)
SPRING GRAPHIC SPRING GRAPHIC NO SPRING GRAPHIC
OFFSET SYMBOLS CENTERED SYMBOLS DETENTED SYMBOLS
2 3 2
POSITION (STANDARD) POSITION (STANDARD) POSITION (STANDARD)
ABII oy T? a':ABII E‘b
2a2 | MXLITS. || 8C2 | T IXe 2D2 ] I} X
PT PT PT
AB — AB =] —4AB
a3 | MUHIS. || 8cs | -2ATTHIYR: | 203 = JHXE:
PT PT PT
A B = A8 e N id
2a14 | ST || 8c4 | e TILNEe | 204 TTHXE:
PT PT PT
AB B AL A A8
om2L | T || sc40 | e TEIEN | 2D0 | oAl HNES
PT PT PT
AB = AB = LB
oasL | SOHTM || ses | eININLe || 207 = JHXE:
PT PT PT
AB = A B =] AB
2At4L | T || 8C6 |-oiXEMe|| 202A | CE
PT PT PT
A B = A B = ,:AB
282 | ML, | 8ceo |- XIHEHITk:| 2D3A "o [[HEE
PT PT PT
AB = AB = A B
283 | JHIE.| se7 | -2THXE: || 204A | o] [HE
PT PT PT
A B = AB =48
288 | (/.| 8cs | 20l 7/ || 2D40A | el [T
PT PT PT
AB = A = A B
2820 | L JHE.| 8ce | ZIH[XEe | 20sA | ol [HEP
PT PT PT
~B = A8 e =R B
2B2L | A X || 8c10 | oS IXA» | 2D60A | [
PT PT PT
LB = AB = A8
283 | IJHO( | semt | X[ [Tk | 207A | ‘ol [HEP
PT PT PT
AB = AB = =48
oBeL | ZT7 M || 8c12 | coINIEM: || 2peA | oAl
PT PT PT
AB A8 =AB
2820L | IFJ[ 0 || 825 | 2T | 2Dt0A | =[S
PT PT PT
': JiAlB :‘ a':AB T
3C29 a!_F><‘T T‘HT—\b 2D11A L HTT—\b
PT PT
= A8 = SRR =
scas | [TH[Zne || 2012a | ceNEr
PT PT
= A8
3ces | - AFITTL:
PT
154




HYSTAR

LIST OF SPECIAL TWO POSITION VALVES ( DSG-01/03 )

SPRING
OFFSET
2

GRAPHIC SYMBOLS

SPRING
OFFSET
2

GRAPHIC SYMBOLS

BOSITION STANDARD (ALTERNATED) POSITION STANDARD (ALTERNATED)
A B ) A B AB AB
2B2A(L) | TS, | .ok || 2B2BL) | ML IXES, | Lol
PT PT PT RT
A B ) A B A B A B
2B3AL) | IHE, | LoHDGs || 283BL) | MHIE, | L ATTHR
PT PT PT pT
AB ‘ A B AB AB
BaAL) | AL, | LD | 2848 | HE, | L STER
PT PT PT PT
A B ) _ A B AB A B
2B40A(L) | MM, | LoAHIX 2840B(L) | ~OIX[S, | LA
PT PT PT PT
A B ) A B A B A B
2B5AL) | A E, |, 2B5B(L) | MR[XE. | .AlIRk
PT PT PT pT
A B ) ) A B A B A B
286AWL) | X 0, | oA [ || 288BM) | Mo T, | W i
PT PT PT T
A B ) A B AB A B
2B60AL) | ~{X{JHCM, | codolH b || 2860B(L) | o[ JHITS, | oo IHEk
PT PT PT PT
A B ) _ A B B A B
2B7A(L) | MM, | MK 2B7B(L) | ~MIX. | LAl
PT PT PT PT
A B AB AB AB
2B8AL) | M. | Lol || 2B8BL) | M/, | LoALLw
PT PT PT pT
A B A B A B AB
289AL) | [P, | LEh || 289BQ) | SEXE, | LEATTHEM
PT PT PT PT
A B ) A B A B A B
2B10AL) | 1|1, | Lol || 2B10B(L) e, | AL
PT PT PT RN
A B ) A B AB A B
2BUAL) | M. | 7K+ |[2B81BL) | X, | oAl
PT PT PT PT
A B ) A B AB AB
2B12AL) | AN, | oK || 28128 | MNIKES, | WAL
PT PT PT PT
A B ) A B A B AB
2B25AL) | A [HL, | LoAdle || 2B28BL) | MH[K, A
PT PT PT PT
AB AB AB AB
2B29A(L) ) 2B29B(L) ]
Ak EEET}“ ”EEE . EXET}“
A B A B A B AB
2B48A(L) ) 2B48B(L) )
w{p . A N[PEIZE . ;ﬂﬁ“

NOTE : Standard Model No. + L = Alternate Model.

For example,2B2A is Standard Model,2B2AL is Alternate Model.




HYSTAR

DIMENSIONS

MILLIMETERS(INCHES)

MOUNTING SURFACE:DSG-01-CETOP3

DSG-01-AC
1ISO 03-NFPADO3
141.5(5.57)
4 -5.5(.22) Dia. Thru. Pressure Port "P" 65(2.56)
9.5(.37) Dia. C'Bore Cylinder Port"A"
I
= Y L a0 — i
218 s = | QI8 N S 4= IS
&l SN . = “ic ®|= N N = “lc
G © Y @
Cylinder Port"B"
13.5 40.5 13.5 40.5
(.53) (1.59) (.53) (1.59)
Tank Port"T"
90(3.54) Electrical Conduit Connection
G1/2 Thd. ( Both End )
b b L
1 i Look Nut NN
] g e
o
s 8
5
<
Manual Override
65(2.56) 48(1.89)
Mounting Surface
(O-Ring P9X4pcs) 193(7.60)
Attachment Name Description Tightening Torque Code
Soc. Hd. Cap Screw M5 X45LgX4pcs 5-7 Nm 30
Soc. Hd. Cap Screw 10-24UNCX1-3/4"LgX4pcs 43-60 in.lbs 3090
DSG-01-DC/RAC MOUNTING SURFACE:DSG-01-CETOP3
1ISO 03-NFPADO3
152.5(6.00)
4 - 5.5(.22) Dia. Thru. Pressure Port "P" 65(2.56)
9.5(.37) Dia. C'Bore Cylinder Port"A" -
= — —~ [] = =5
-8 Bl O EF (= ] =8 ST = .I§:
e ) NZ \ B "= o= L B =%
65> o = Ha® e, g
Cylinder Port"B"
13.5 40.5 13.5 40.5
.53 1.59 .53 1.59
. o, Tank PortT" (53) ( ) (:53) ( )
90(3.54
- (3.54) Electrical Conduit Connection
/ G1/2 Thd. ( Both End )
—1)\7 \'l\\rv— 1 T
LT ] Lock Nut AT
] — 3 N,
It z
S 12}
: I ] : Pl .2 %
I I =3
= =R N = ¢ =24
/ Manual Override
65(2.56) 48(1.89)
Mounting Surface Coil
(O-Ring P9X4pcs) 215(8.46)
Attachment Name Description Tightening Torque Code
Soc. Hd. Cap Screw M5 X45LgX4pcs 5-7 Nm 30
Soc. Hd. Cap Screw | 10-24UNCX1-3/4"LgX4pcs 43-60 in.lbs 3090

156




2y "DSG" DIRECTIONAL VALVES

MILLIMETERS(INCHES)

DIMENSIONS
DSG-03-AC MOUNTING SURFACE:DSG-03-CETOP5
ISO 05-NFPAD05
90(3.54)
[ [

4 - 6.5(.26) Dia. Thru
11(.43) Dia. Spotface

Tank Port "T" -

=
—~ % <
@ TB 2N ] TE:‘ S # ) . %
g L A T mBPAT] =
W A=A =
Cylinder Port "B" 54(2.13) _Cylinder Port "A" 175.5(6.91)
Pressure Port "P"
92(3.62) - 48(1.89)  Electrical Conduit Connection
G1/2 Thd. ( Both Ends )
_
Lock Nut
:% TCZl
: ——
g ) i
= = z 8 {E?\
e T =
| AN R
EL‘EDEH © t%\‘
Coll
/ 234(9.21) 70(2.76) Manual Override

Mounting Surface

(O-Ring P12X5pcs) Attachment Name Description Tightening Torque | Code
Soc. Hd. Cap Screw M6 X35LgX4pcs 12-15 Nm 30
Soc. Hd. Cap Screw | 1/4-20UNCX1-1/2"LgX4pcs 105-130 in.lbs 3090

DSG-03-DC/RAC MOUNTING SURFACE:DSG-03-CETOP5
ISO 05-NFPADO05

90(3.54)
| N
4 - 6.5(.26) Dia. Thru — = P
11(.43) Dia. Spotface Tank Port "T i i
~
oW R
@ | DY A ?‘EQ}D 1 g'/ S — B
§;\7@%\7 g | TTBPAT]
- i
Cylinder Port "B" 54(2.13) _Cylinder Port "A" 201(7.91)
Pressure Port "P"
92062 N 48(1.89)  Electrical Conduit Connection

G1/2 Thd. ( Both Ends )

A
Lock Nut T
i AN
R N
S =
g0 ] 2 g
© ©
38 (o
i e g N
[TBPAT| N g
Coil .
/ 285(11.22) 70(2.76) Manual Override
IEAOO l;::”gp?;r;zcis) Attachment Name Description Tightening Torque | Code
9 P Soc. Hd. Cap Screw M6 X35LgX4pcs 12-15 Nm 30
Soc. Hd. Cap Screw | 1/4-20UNCX1-1/2"LgX4pcs 105-130 in.lbs 3090

157




XS "DSHG" DIRECTIONAL VALVES

MODEL NO SPECIFICATIONS ( Solenoid Controlled Pilot Operated Directional Valves )
Spool Type & Graphic Symbols Rated Flow Capacity -Maximum Flow Capacity
SYMBOLS MODEL NO DSHG-01 | DSHG-03 | DSHG-04 | DSHG-06 | DSHG-10
=Sk DSHG-2B2-**
MHXD® DSHG-2B3-**
SSh{=Sk DSHG-2B4-**
i= =SSk DSHG-2N2-**
O HX" DSHG-2N3-**
SIS DSHG-3C2-** .
Y PT — E E _ g
X £ S £ £
g= SIEDASE DSHG-3C3-** 3 § | £ 8 s3 Es5 2 S
YL P o (/) ~ D — U) D
A o Q ™ 8 5 e =
BRI DSHG3c4* | §23 ©J (T2 8§ | T3
P o < w0 l l
N v S SIS = Q &
ST DSHG-3C40-** -9 8 |8  *Z
- BITIHIXME DSHG-3C7-**
- BIEIXES DSHG-3C9-**
I XS » DSHG-3C10-**
g=SINIEAESE DSHG-3C11-**
- BIINIXEE DSHG-3C12-**
STHREE DSHG-3C5-+* = £ £ E &
Yl ;’; g_ §-’ S_ %9)7 LEJ- (§’ E— (% E‘ U)%
R 11 11 b Sk = 0 o o o D o
gu‘ji I 1[:3;?1 1 l % DSHG'\?)CG' % 8 ? g $ E ? 8 $ §
AB 9 o l w0 1 o i 'C\> 1
SH S HOES: DSHG-3C60-** T]e3 3 &3 5 2
Max. Operating Pressure ( bar ) 315 (4500 PSI)
Min. Required Pilot Pressure ( bar ) 8 (114 PSI) ‘10(143 PSI)
Max. Pilot Pressure ( bar ) 250 ( 3600 PSI)
Permissible Back Pressure ( T ) ( bar ) Ext. Drain 210 ( 3000 PSI)
Permissible Back Pressure ( T ) ( bar ) Int. Drain 160 ( 2300 PSI)
Weight ( Kgs ) D?uble Solenc?ld 3.5 7.2 8.9 12.8 45.4
Single Solenoid 2.9 6.6 8.3 12.2 44.8
Switching Frequency ( times/min ) 120 120 120 120 110
Hydraulic Fluids Use Hydraulic Fluids Equivalent to ISO VG32 or VG46
Operating Temperature Range Recommended (C ) -15~+70 (+5 ~ +160°F)
Operating Viscosity ( cSt ) 15~ 400 ( 80 ~ 1800SSU )
Filtration 25 Microns Absolute or Finer
158




XS "DSHG" DIRECTIONAL VALVES

MILLIMETERS(INCHES)

MOUNTING SURFACE:DSHG-10-CETOP10
1SO 10-NFPAD10

DIMENSIONS

10(1-1/4")(S)DSHG-***-10

Tank Port "T" Pressure Port "P"
s 233.8(9.20)
6 - 21.5(.85) Dia. Thru
32(1.26) Dia. Spotface 21.8 76.2 Pilot Drain Port "Y"
(.86) (3.00) (For External Drain Model Only)
NG /@
EL //'\T ,/’\\ \\ —
> B 1 o A ) gl @
Qe = 'S L S %
= e 77 5| &
L —Ie e ‘é?i? <58 %
B lox *ay @ S
D
v ZAEIN>'§
oI
Pilot Pressure Port "X" 114.3(4.50) 3|~
For Ext | Pilot Model Onl
(For External Pilot Model Only) 775 190.5(7.50)
I Cylinder Port "B"
(3.09) 384(15.12) —
Cylinder Port "A"
mPm Connector
193(7.60) 52 :Space Needed to Remove With Indicator Light
(2.05) Solenoid-Each End Manual Override
EEF: — _
Two Eye Bolts M8 R
[=
sogé APBE] |soLb
SRS N >
N @
=} @©
— [=2)
) { = = @
R0 g 2| 2
N ¢
~ HYS
L H‘\7 | | | I L : F T
I il i oS |1 i
E:: [ I j "I:H@ L

r
\ 6(.24)Dia. Two Locating Pins

Removed for Internal
Drain Model
( Pipe Plug R1/16 )

U
NN

=

}

I (Pipe Plug R1/16 )

Removed for External

Drain Model
Section X-X
W ( Removed for Internal /
Pilot Model /
I | (Pipe Plug R1/16 ) ja
U U TN
| | -+
N N
1 -~y i
Attachment Name Description Tightening Torque ~ Code Section Y-Y
Soc. Hd. Cap Screw M20X75LgX6pcs 473-585 Nm 30
Soc. Hd. Cap Screw | 3/4-10UNCX3"Lg X6pcs | 4106-5078 in.lbs 3090

159




